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QUESTION 1

During the Write phase of RecoverPoint replication, when does the write splitter send an acknowledgement back to the
host that initiated the write? 

A. As soon as the splitter received the write 

B. After the splitter has received an acknowledgement from the RPAs 

C. After the Distribution phase has completed 

D. After the splitter has received an acknowledgement form the production LUN 

Correct Answer: A 

Reference: https://community.emc.com/thread/169861?tstart=0 

 

QUESTION 2

Which type of RecoverPoint Consistency Group contains both active and standby production copies? 

A. XtremIO Consistency Groups 

B. Distributed Consistency Groups 

C. Any group with multiple remote copies 

D. MetroPoint Consistency Group 

Correct Answer: D 

Reference
https://cpsdocs.dellemc.com/bundle/P_DP_PG/page/GUID-667398C4-480F-4FA7-9E00-41BBEF2BB8D7.html 

 

QUESTION 3

What describes RecoverPoint asynchronous replication write operations to the Journal volumes? 

A. Journal is written to at three times the rate of the production volumes 

B. Volumes of the same capacities will be concatenated and not striped 

C. Writes to the Journal volume are typically small sequential writes 

D. Writes to the Journal volume are typically large sequential writes 

Correct Answer: D 

 

QUESTION 4
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A RecoverPoint administrator is planning to use RecoverPoint to protect their applications. The administrator needs to
protect 8192 production volumes. The RecoverPoint system has two physical clusters using VNX arrays. What is a
possible Consistency Group configuration? 

A. 4096 Consistency Groups, each with 1 remote copy and 1 local copy 

B. 4096 replication sets, each with 1 remote copy and 1 local copy 

C. 8192 Consistency Groups, each with 1 remote copy and 1 local copy 

D. 8192 replication sets, each with 1 remote copy and 1 local copy 

Correct Answer: A 

 

QUESTION 5

A company has a database, protected by RecoverPoint, that has become corrupted. They want to use the Recover
Production wizard to repair the corruption. Which action must be taken at the production host prior to starting the
recovery? 

A. Unmount the production volume(s) 

B. Pause replication 

C. Disable the Consistency Group 

D. Create a bookmark 

Correct Answer: A 

 

QUESTION 6

A storage administrator has seen high-load events in their RecoverPoint environment. The administrator wants to review
the performance data for the past week with RecoverPoint. In addition, the administrator wants the raw data saved to a
spreadsheet to review and create graphs of system performance over a period of time. 

Which CLI command should be used? 

A. get-rpa_statistics 

B. export_statistics 

C. balance_load 

D. detect_bottlenecks 

Correct Answer: C 

 

QUESTION 7

Which RecoverPoint feature allows for the creation of a consistent point-in-time image across multiple Consistency
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Groups? 

A. Group Sets 

B. Bookmarks 

C. Journal Consolidation 

D. Snapshot Pruning 

Correct Answer: D 

 

QUESTION 8

Which factor affects the time it takes a Consistency Group to complete the first-time initialization? 

A. Performance of the Journal volumes at the remote copy 

B. Number of RPAs at the remote copy cluster 

C. Distance between the production and remote copy clusters 

D. Number of RPAs at the production cluster 

Correct Answer: D 

 

QUESTION 9

A storage administrator is selecting Test a Copy to enable an Image Access for an XtremIO-to-XtremIO Consistency
Group. Why is Logged Access the only allowable access mode with this type of replication? 

A. Direct Access is not possible because the copy cannot be mounted on XtremIO 

B. XtremIO cannot process the changes to the Journal required for Virtual Access 

C. XtremIO snapshots are not host accessible when using RecoverPoint 

D. XtremIO uses snapshots which are instantly promoted as the SCSI personality of the copy 

Correct Answer: D 

 

QUESTION 10

DRAG DROP 

After a logical corruption, data on a production volume is inaccessible. As the volume is replicated using RecoverPoint,
the administrator decides to use the “Test a Copy and Recover Production” wizard to restore this volume to its state
prior 

to the logical corruption. 
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What is the correct sequence of steps to complete the recovery activity? 

Select and Place: 

Correct Answer: 
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QUESTION 11

A RecoverPoint administrator is adding a new user to the system using Unisphere. Which pre-defined user is used to
add a new user? 

A. admin 

B. boxmgmt 

C. security-admin 

D. security 

Correct Answer: A 

 

QUESTION 12

Which RPA interface is used for management? 

A. eth1 

B. eth0 

C. iSCSI-1 
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D. iSCSI-2 

Correct Answer: A 

Reference: https://davidring.ie/2013/03/25/emc-recoverpoint-architecture-and-basic-concepts/ 

 

QUESTION 13

Refer to the exhibit. 

Based on the Consistency Group status shown in the exhibit, why is the local copy not connected to the production and
remote copy? 

A. Test a Copy wizard is in progress 

B. Consistency Group is failing over 

C. Connection to the local copy cluster has failed 

D. Local copy has failed 

Correct Answer: C 

 

QUESTION 14

Which parameter is used as the Locking ID for a RecoverPoint/EX license? 

A. RecoverPoint Cluster ID 

B. XtremIO Management Server number 

C. Array serial number 

D. RecoverPoint System IO 

Correct Answer: C 
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Reference: https://www.scribd.com/document/335842699/docu62057-RecoverPoint-4-4-Administrator-s-Guide-pdf 

 

QUESTION 15

Which type of I/O modules can be inserted into Slot1 of a Gen-6 RPA? 

A. 1 GbE optical or 1 GbE copper 

B. 10 GbE optical or 1 Gb RJ45 copper 

C. 10 GbE optical or 10 GbE copper 

D. 10 GbE copper or dual-stacked DB-9 ports 

Correct Answer: C 

Reference: https://davidring.ie/2016/09/19/recoverpoint-gen6-hardware-appliance/ 
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